High School Juniors & Seniors

TSSEC Music Theory Exam, 2012 (100 points)

Answer Sheet

1. [2 points] a
2. [3 points; 1 pt. per bar]:
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4. [4 points; 1 pt. per bar]:
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6. [1 point]

7. [1 point]
8. [1 point] %
9. [1 point] %

10. [1 point] %
11.[1 point] E
I

12.[1 point]

13.[1 point]
14: [1 point]

%_o - o
15: [1 point]

o

16: [1 point]
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17-21 [1 point each]:
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34: [10 points]
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38. [2 points] d
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39. [2 points] P5
40. [2 points] M6
41. [2 points] M3
42. [2 points] P8

43. [2 points] P4

44. [2 points] m2
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45.[1 point
46. [1 point
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49. [1 point]
50. [1 point]
51.[1 point]
52.[1 point]
53.[2 points] 6/8 OR 12/8

54.[2 points] 2/4 OR 4/4

55.[2 points] 3/4

56. [2 points] 2/4 OR 4/4

57.[14 points; %2 pt. for each pitch; % pt.
for each tone duration]
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